# $L^{p}$ perturbations in delay differential equations * 

Samuel Castillo \& Manuel Pinto


#### Abstract

We present extensions and new proofs for the asymptotic formulae and theorems in Cooke [3] for differential equations with variable delay. Explicit asymptotic formulae, examples and comparisons with the classical results are given here.


## 1 Introduction

This paper is motivated by a result given by Cooke [3] for the delay differential equation

$$
\begin{equation*}
x^{\prime}(t)=a x(t-r(t)), \tag{1}
\end{equation*}
$$

where $a \in \mathbb{C}, r:[0,+\infty[\rightarrow[0, R], r(t)$ is a continuous and nonnegative for $t \geq \sigma$ such that the following conditions are satisfied
i) $r(t) \rightarrow 0$ and $r^{\prime}$ is bounded as $t \rightarrow+\infty$;
ii) $\inf _{t \geq \sigma}[t-r(t)]>-\infty$. Also, for $\sigma$ sufficiently large assume that: There is a constant $c_{1}$ independent of $\sigma$ such that

$$
\left|a-a^{2} r(t)-a \exp \left(\int_{t-r(t)}^{t}\left[a+a^{2} r(\tau)\right] d \tau\right)\right| \leq c_{1} r(t)^{2}, t \geq \sigma
$$

iii) $r \in L^{p}$ for some $p: 1 \leq p \leq 2$;
iv) Let $\tau_{1}=\tau_{1}(\sigma)$ be defined by $\tau_{1}-r\left(\tau_{1}\right)=\sigma, t-r(t)>\sigma \forall t>\tau_{1}$.
a. $8|a| \int_{\tau_{1}}^{t} r(s) d s \leq r(t), \tau_{1} \leq t, t-r(t) \leq \tau_{1}$,
b. $4\left|c_{1}\right| \int_{\tau_{1}}^{t} r(s) d s \leq r(t)^{-(2-p)}, t-r(t) \leq \tau_{1} \leq t$,
c. $8|a| \int_{t-r(t)}^{t} r(s) d s \leq r(t)^{p}, t \geq \sigma$.

Now we state Cooke's theorem.

[^0]Theorem 1 Under the above assumptions, every solution of (1) satisfies

$$
\begin{equation*}
x(t)=\exp \left(a t-a^{2} \int_{\sigma}^{t} r(\tau) d \tau\right)(c+o(1)) \tag{2}
\end{equation*}
$$

as $t \rightarrow+\infty$. Moreover, for each $c \in \mathbb{C}$, there exists a solution $x$ of (1) satisfying (2).

The equation (1) studied by Cooke has several additional hypotheses. For example, not only $r \in L^{p}$ for $1 \leq p \leq 2$ and bounded, but also $\int_{t-r(t)}^{t} r(s) d s \leq$ $c r(t)^{p}$ (see Assumption iv.c above) which implies $\int_{t-r(t)}^{t} r(s) d s \in L^{1}$. Now, consider a continuous function $r(t)$ such that

$$
r(t)-\sum_{n=1}^{+\infty} \frac{1}{\sqrt{n}} k_{n}(t) \in L^{1}
$$

where

$$
k_{n}(t)= \begin{cases}1 & \text { for } n-(1 / \sqrt[3]{n}) \leq t \leq n \\ 0 & \text { otherwise }\end{cases}
$$

Here, $r \in L^{2}$, but $\int_{t-r(t)}^{t} r(s) d s$ is not in $L^{1}$. We will also study (1) under this hypothesis. In general, we will study the asymptotic behavior of solutions to the delay-differential equation

$$
\begin{equation*}
x^{\prime}(t)=\lambda(t) x(t-r(t)) \quad t \geq 0 \tag{3}
\end{equation*}
$$

where $r, \lambda:[0,+\infty[\rightarrow \mathbb{C}$ are continuous functions such that $r(t) \in[0, R], R>0$. These hypotheses will be assumed for the rest of this paper. We will be also interested in the condition
(H) For some $p$ in $[1,2]$,

$$
|\lambda(t)|\left[\int_{t-r(t)}^{t}|\lambda(s)| \exp \left(-\operatorname{Re} \int_{s-r(s)}^{t} \lambda(\xi) d \xi\right) d s\right] \in L^{p}(R, \mathbb{C})
$$

Remark 1. For equation (1), condition (H) takes the form

$$
\int_{t-r(t)}^{t} \exp (-\operatorname{Re}(a)(t+r(s)-s)) d s
$$

which is satisfied when $r \in L^{p}$ and $r$ is bounded. The requirement of condition $(\mathrm{H})$ is weaker than the conditions of Theorem 1 (see Corollary 1 below).

Remark 2. For the equation

$$
\begin{equation*}
x^{\prime}(t)=\lambda(t) x(t-r) \tag{4}
\end{equation*}
$$

with $r$ a positive constant, condition (H) takes the form

$$
|\lambda(t)| \int_{t-r}^{t}|\lambda(s)| \exp \left(-\operatorname{Re} \int_{s-r}^{t} \lambda(\xi) d \xi\right) d s \in L^{p}
$$

This is satisfied when $\lambda \in L^{q}$, for some $q$ in [1,4]. Note that $p \geq \max \{1, q / 2\}$ is required.

Remakr 3. Condition (H) is easily satisfied when $\lambda(t) \geq 0$ is a not decreasing function and $\lambda(t)^{2} r(t) \in L^{p}$, for some $p: 1 \leq p \leq 2$. In fact, for $t \geq R$, let

$$
H(t)=\lambda(t)\left[\int_{t-r(t)}^{t} \lambda(s) e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi} d s\right]
$$

Then

$$
H(t) \leq \lambda(t) e^{-\int_{R}^{t} \lambda(\xi) d \xi}\left[\int_{t-r(t)}^{t} \lambda(t) e^{\int_{R}^{s-r(s)} \lambda(\xi) d \xi} d s\right] \leq \lambda(t)^{2} r(t)
$$

This paper is organized as follows: in Section 2 we give some preliminaries and asymptotic results for integral-differential equations. Our main results are given in Section 3. Some consequences and examples are given in Section 4. The asymptotic formulae of this paper are explicit and easy to apply. Other asymptotic studies can be found in $[1,2,7,10,11,12]$.

## 2 Preliminaries

In this section, we consider

$$
\begin{equation*}
z^{\prime}(t)=c(t) \int_{t-r(t)}^{t} b(s)[z(t)-z(s-r(s))] d s+F(z)(t) \tag{5}
\end{equation*}
$$

for $t \geq 3 R$, where $b, c:[2 R,+\infty[\rightarrow \mathbb{C}$ are continuous complex-valued functions, and $F: L^{\infty}\left(\left[2 R,+\infty[, \mathbb{C}) \rightarrow L^{\infty}([3 R,+\infty[, \mathbb{C})\right.\right.$ is a linear function. We will assume in this paper that the following hypotheses are satisfied:
(H1) for some $p$ in $[1,2],|c(t)| \int_{t-r(t)}^{t}|b(s)| d s \in L^{p}([3 R,+\infty[, \mathbb{C})$
(H2) For $t \geq 3 R$ and $h(t) \in L^{1}([3 R,+\infty[, \mathbb{C})$,

$$
|F(z)(t)| \leq h(t) \sup _{t-r(t) \leq s \leq t}|z(s-r(s))| .
$$

Consider the homogeneous integral-differential equation

$$
\begin{equation*}
u^{\prime}(t)=c(t) \int_{t-r(t)}^{t} b(s)[u(t)-u(s-r(s))] d s, \quad t \geq 3 R \tag{6}
\end{equation*}
$$

Note that (5) is a perturbation of (6). Also note that given $\xi \in \mathbb{C}, u(t)=\xi$ is a solution of (6). Let $f(t)=|c(t)| \int_{t-r(t)}^{t}|b(s)| d s$ for $t \geq 3 R$, and

$$
\begin{equation*}
\alpha(t)=2 f(t) \int_{t-R}^{t} f(\tau) d \tau \tag{7}
\end{equation*}
$$

for $t \geq 4 R$. Since $b$ and $c$ satisfy (H1), $f \in L^{p}$ and $\int_{t-r(t)}^{t} f(\tau) d \tau \in L^{\frac{p}{p-1}}[6, \mathrm{pp}$. 17-21]. Thus, $\alpha \in L^{1}([4 R,+\infty[, \mathbb{C})$.

Lemma 1 Suppose that the continuous complex-valued functions b, c satisfy (H1). Then, all the solutions of (6) are convergent. Furthermore, they have the form

$$
u(t)=\xi+O\left(\int_{t}^{+\infty} \alpha(\xi) d \xi\right)
$$

as $t \rightarrow+\infty$ for some $\xi \in \mathbb{C}$ where $\alpha$ is given by (7).
Proof. We observe that all the solutions of (6) satisfy

$$
\begin{equation*}
u^{\prime}(t)=c(t) \int_{t-r(t)}^{t} b(s)\left[\int_{s-r(s)}^{t} c(\tau)\left[\int_{\tau-r(\tau)}^{\tau} b(\xi)[u(\tau)-u(\xi-r(\xi))] d \xi\right] d \tau\right] d s, \tag{8}
\end{equation*}
$$

for $t \geq R$. Assume that $u: \mathbb{R} \rightarrow \mathbb{R}$ with $\|u\|_{t}:=\sup _{s \leq t}|u(s)|$ is bounded. Then

$$
\begin{equation*}
\left|u^{\prime}(t)\right| \leq 2 f(t)\left[\int_{t-r(t)}^{t} f(\tau) d \tau\right]\|u\|_{t}, \tag{9}
\end{equation*}
$$

where $t \geq 4 R$. Integrating this equation $[4 R, t]$ we have,

$$
|u(t)| \leq|u(4 R)|+\int_{4 R}^{t} \alpha(\xi)\|u\|_{\xi} d \xi .
$$

Hence,

$$
|u(\tilde{t})| \leq|u(4 R)|+\int_{4 R}^{t} \alpha(\xi)\|u\|_{\xi} d \xi
$$

where $4 R \leq \tilde{t} \leq t$. Thus,

$$
\|u\|_{t} \leq|u(4 R)|+\int_{4 R}^{t} \alpha(\xi)\|u\|_{\xi} d \xi
$$

and by Gronwall's inequality,

$$
\begin{equation*}
\|u\|_{t} \leq|u(4 R)| \exp \left(\int_{4 R}^{t} \alpha(\xi) d \xi\right) \tag{10}
\end{equation*}
$$

Since $\alpha \in L^{1}$ and $u$ is bounded, the right side of equality (9) belongs to $L^{1}$. Therefore $u$ is convergent.

Example 1. Consider the homogeneous integral-differential equation

$$
\begin{equation*}
t u^{\prime}(t)=\int_{t-1}^{t} \sin \left(s^{2}\right)[u(t)-u(s-1)] d s \tag{11}
\end{equation*}
$$

with $t \geq 1$. Clearly, given $\xi \in \mathbb{C}, u(t)=\xi$ is a solution of (11). Moreover, by the above lemma all the solutions of (11) are convergent and have the form
$u(t)=\xi+O\left(\int_{t}^{+\infty}\left[\frac{1}{\tau} \int_{\tau-r(\tau)}^{\tau}\left|\sin \left(s^{2}\right)\right| d s\right]\left[\int_{\tau-r(\tau)}^{\tau} \frac{1}{\zeta} \int_{\zeta-r(\zeta)}^{\zeta}\left|\sin \left(s^{2}\right)\right| d s d \zeta\right] d \tau\right)$.

Lemma 2 Assume that the complex-valued functions $b, c, h, k$ satisfy (H1) and (H2). Then the solutions of (5) are convergent and satisfy

$$
\begin{equation*}
z(t)=\xi+O\left(\int_{t}^{+\infty}|h(\tau)| \int_{\tau-r(\tau)}^{\tau}|k(s)| d s d \tau\right) \tag{12}
\end{equation*}
$$

as $t \rightarrow+\infty$. Conversely, given $\xi \in \mathbb{C}$, there is a solution $z(t)=z_{\xi}(t)$ of (5), defined for $t \geq 3 R$ such that it satisfies (12).

Proof: Let $u(t)=u(t ; 3 R, \varphi)$ be the unique solution of the homogeneous equation

$$
u^{\prime}(t)=c(t) \int_{t-r(t)}^{t} b(s)[u(t)-u(s-r(s))] d s
$$

for $t \geq 3 R$ such that $u(t ; 3 R, \varphi)=\varphi(t)$ for $t \leq 3 R$. Then, by a variation of constants formula (5), with initial condition $z(t)=\varphi(t)$ for $t \leq 3 R$, is equivalent to

$$
\begin{equation*}
z(t)=u(t ; 3 R, \varphi)+\int_{3 R}^{t} u\left(t ; \tau, \chi_{\tau}\right) F(z)(\tau) d \tau \tag{13}
\end{equation*}
$$

where

$$
\chi_{\tau}(t)= \begin{cases}1 & \text { if } t=\tau \\ 0 & \text { if } t \neq \tau\end{cases}
$$

for $t \geq 3 R$. From (10), there is $c>0$ such that $|u(t ; 3 R, \varphi)| \leq c|\varphi|_{\infty}$, for all $t \geq 3 R$. Then

$$
|z(t)| \leq c|\varphi|_{\infty}+c \int_{3 R}^{t}|F(z)(\tau)| d \tau .
$$

Let $C$ be the set of the functions $\varphi: \mathbb{R} \rightarrow \mathbb{C}$ such that $\varphi(t)$ is continuous for $t \geq 3 R$ and $\varphi(t)=0$ for $t<3 R$. Let $\beta(t)=c h(t)$. By (H2), $\beta \in L^{1}$. Let $\eta$ be a positive number such that $\eta<1$ and let $\theta:[3 R,+\infty[\rightarrow \mathbb{R}$ be the function

$$
\theta(t)=\sum_{n=1}^{+\infty} g_{n}(t), \quad \text { with } \quad g_{n}(t)= \begin{cases}1 & \text { for } t \in\left[3 R n, 3 R n+\delta_{n}\right] \\ 0 & \text { otherwise }\end{cases}
$$

and the $\delta_{n}$ are positive numbers such that for all $n \in \mathbb{N}$,

$$
\begin{equation*}
\exp \left(\int_{3 R}^{3 R n+\delta_{n}} \beta(\tau) d \tau\right)-1<\left(1-\frac{1}{2^{n}}\right) \eta \tag{14}
\end{equation*}
$$

Let

$$
\|z\|_{\eta}=\sup _{t \geq 3 R} \exp \left(-\int_{3 R}^{t} \beta(\tau) \theta(\tau) d \tau\right)|z(t)|
$$

Since the supremum norm $|\cdot|_{\infty}$ and the norm $\|\cdot\|_{\eta}$ are equivalent, $C=\left(C,\|\cdot\|_{\eta}\right)$ is a Banach space. Let $\|z\|_{t}=\sup _{s \leq t}|z(s)|$. Since $|z(t)| \leq|\varphi|_{\infty}$ for $t \leq 2 R$, for $c \geq 1$ and $\tilde{t} \leq t \leq 3 R$, we obtain

$$
|z(\tilde{t})| \leq c|\varphi|_{\infty}+\int_{3 R}^{t} \beta(\tau)\|z\|_{\tau} d \tau
$$

By Gronwall's inequality,

$$
\|z\|_{t} \leq c|\varphi|_{\infty} \exp \left(\int_{3 R}^{t} \beta(\tau) d \tau\right)
$$

Since $\beta \in L^{1},\|z\|_{t}$ is bounded. By (13) we obtain that all the solutions of (5) are convergent.

To prove the second part of this lemma we define the operator $\mathcal{A}: C \rightarrow C$ such that

$$
(\mathcal{A} z)(t)=\xi-\int_{t}^{+\infty} u\left(t ; \tau, \chi_{\tau}\right)\left[h(\tau) \int_{\tau-r(\tau)}^{\tau} k(s) z(s-r(s)) d s\right] d \tau \quad \text { for } t \geq 3 R
$$

and $(\mathcal{A} z)(t)=0$, for $t<3 R$. By the variation of constants formula we have that any fixed point of this operator is a solution of (5) for $t \in[3 R,+\infty[$. Note that:
i) $\mathcal{A}(C) \subseteq C$,
ii) $\mathcal{A}$ has a fixed point $z=z_{\xi}$ in $C$,
iii) $(\mathcal{A} z)(t) \rightarrow \xi$ as $t \rightarrow+\infty$.

By (14), for all $z_{1}, z_{2} \in C$ and $t \geq 3 R$, we have

$$
\begin{equation*}
\exp \left(-\int_{3 R}^{t} \beta(\tau) \theta(\tau) d \tau\right)\left\|\left(\mathcal{A} z_{1}\right)(t)-\left(\mathcal{A} z_{2}\right)(t)\right\| \leq \eta\left\|z_{1}-z_{2}\right\|_{\eta} \tag{15}
\end{equation*}
$$

Taking the supremum in the left-hand side of this equation,

$$
\left\|\mathcal{A} z_{1}-\mathcal{A} z_{2}\right\|_{\eta} \leq \eta\left\|z_{1}-z_{2}\right\|_{\eta}
$$

for $t \geq 3 R$ and all $z_{1}, z_{2} \in C$. Since $0<\eta<1$, we have that $\mathcal{A}$ has a fixed point $z_{\xi} \in C$. So, ii) is proved. Now, by taking $z_{2}=0$ in (15),

$$
\begin{equation*}
(\mathcal{A} z)(t) \rightarrow \xi \tag{16}
\end{equation*}
$$

for all $z \in C$ as $t \rightarrow+\infty$. So, i) and iii) are satisfied. Therefore, the second part of this lemma is proved.

Example 2. Consider the homogeneous integral-differential equation

$$
\begin{equation*}
t z^{\prime}(t)=\int_{t-1}^{t}\left(\sin \left(s^{2}\right)[z(t)-z(s-1)]+\left[e^{1 / s}-1\right] z(s-1)\right) d s \tag{17}
\end{equation*}
$$

where $t \geq 1$. Then, by the above lemma, all the solutions of (17) are convergent. Moreover, given $\xi \in \mathbb{C}$, there is a solution of $z=z(t)$ of (17) such that $z(t) \rightarrow \xi$ as $t \rightarrow+\infty$.

## 3 Main Result

Theorem 2 Assume that the functions $\lambda$ and $r$ satisfy ( $H$ ). Then for every solution $x$ of (3), there exists $c \in \mathbb{C}$ such that

$$
\begin{equation*}
x(t)=\exp \left(\int_{3 R}^{t}[\lambda(\tau)-\tilde{b}(\tau)] d \tau\right)\left(c+O\left(\int_{t}^{+\infty} \mu(\tau) d \tau\right)\right) \tag{18}
\end{equation*}
$$

where

$$
\mu(t)=|\lambda(t)| \int_{t-r(t)}^{t}|\lambda(s)|\left|e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi}\left(e^{-\int_{s-r(s)}^{t} \tilde{b}(\xi) d \xi}-1\right)\right| d s
$$

and $\tilde{b}(t)=\lambda(t) \int_{t-r(t)}^{t} \lambda(s) e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi} d s$ defined for $t \geq 3 R$ as $t \rightarrow+\infty$. Conversely, given $\xi \in \mathbb{C}$, there is $x(t)=x_{\xi}(t)$, solution of (3) defined for $t \geq 3 R$ which satisfies (18) with $c=\xi$.

Proof. We write (3) as

$$
x^{\prime}(t)=\lambda(t) x(t)-\lambda(t)(x(t)-x(t-r(t))), \quad t \geq 0 .
$$

Iterating the above equation and applying the uniqueness theorem for functional differential equations, we obtain that (3) is equivalent to

$$
\begin{equation*}
x^{\prime}(t)=\lambda(t) x(t)-\lambda(t) \int_{t-r(t)}^{t} \lambda(s) x(s-r(s)) d s \tag{19}
\end{equation*}
$$

for $t \geq 3 R$. In this equation we make the change of variables

$$
x(t)=\exp \left(\int_{3 R}^{t}[\lambda(s)-\tilde{b}(s)]\right) z(t)
$$

and we obtain

$$
z^{\prime}(t)=\tilde{b}(t) z(t)-\lambda(t) \int_{t-r(t)}^{t} \lambda(s) e^{-\int_{s-r(s)}^{t}[\lambda(\xi)-\tilde{b}(\xi)]} z(s-r(s)) d s
$$

which is equivalent to

$$
\begin{aligned}
z^{\prime}(t)= & \tilde{b}(t) z(t)-\lambda(t) \int_{t-r(t)}^{t} \lambda(s) e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi} z(s-r(s)) d s \\
& -\lambda(t) \int_{t-r(t)}^{t} \lambda(s) e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi}\left(e^{-\int_{s-r(s)}^{t} \tilde{b}(\xi) d \xi}-1\right) z(s-r(s)) d s
\end{aligned}
$$

Then,

$$
\begin{equation*}
z^{\prime}(t)=c(t) \int_{t-r(t)}^{t} b(s)[z(t)-z(s-r(s))] d s+F(z)(t) \tag{20}
\end{equation*}
$$

where $c(t)=\lambda(t) e^{-\int_{3 R}^{t} \lambda(\xi) d \xi}, b(t)=\lambda(t) e^{-\int_{t-r(t)}^{3 R} \lambda(\xi) d \xi}$ and

$$
F(z)(t)=-\lambda(t) \int_{t-r(t)}^{t} \lambda(s) e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi}\left(e^{-\int_{s-r(s)}^{t} \tilde{b}(\xi) d \xi}-1\right) z(s-r(s)) d s
$$

for $t \geq 3 R$. By (H), $\exp \left(-\int_{t-R}^{t} \tilde{b}(\xi) d \xi\right)-1 \in L^{\frac{p}{p-1}}$. So,

$$
|\lambda(t)| \int_{t-r(t)}^{t}|\lambda(s)|\left|e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi}\left(e^{-\int_{s-r(s)}^{t} \tilde{b}(\xi) d \xi}-1\right)\right| d s \in L^{1}
$$

Then (20) satisfies the same hypotheses as (5) in Lemma 2. Thus, we obtain the conclusion of this theorem.

Example 3. Consider equation (3) with $\lambda(t)=\Gamma(t)$ and $r(t)=\frac{1}{\Gamma(t)}$ for $t \geq 0$, where

$$
\Gamma(t)=\int_{0}^{+\infty} s^{t-1} e^{-s} d s
$$

is the Euler's Gamma Function. Then (3) takes the form

$$
\begin{equation*}
x^{\prime}(t)=\Gamma(t) x\left(t-\frac{1}{\Gamma(t)}\right) \tag{21}
\end{equation*}
$$

for $t \geq 0$. By the above theorem, it is not difficult to check that all the solutions of (21) are of the form

$$
x(t)=(c+o(1)) \exp \left(\sum_{k=1}^{n-1}\left[k!-k!(k-1)!e^{-(k-2)(k-2)!}\right]\right)
$$

for $n \leq t<n+1$ as $n \rightarrow+\infty$.

## 4 Consequences

Corollary 1 Assume that $r$ is bounded and $r \in L^{p}$ for some $p: 1 \leq p \leq 2$. Then for each solution $x$ of (1), there exists $c \in \mathbb{C}$ such that

$$
\begin{equation*}
x(t)=\exp \left(a t-a^{2} \int_{3 R}^{t} r(\tau) d \tau-a^{3} \int_{3 R}^{t}\left[\int_{\tau-r(\tau)}^{t} r(s) d s\right] d \tau\right)(c+o(1)) \tag{22}
\end{equation*}
$$

Conversely, given $\xi \in \mathbb{C}$ there is a solution $x(t)=x_{\xi}(t)$ of (1), defined for $t \geq 3 R$, satisfying (22) with $c=\xi$.

Proof. If we take $\lambda(t)=a$ in Theorem 2, we obtain

$$
|\lambda(t)| \int_{t-r(t)}^{t}|\lambda(s)| e^{-R e \int_{s-r(s)}^{t} \lambda} d s=|a|^{2} \int_{t-r(t)}^{t} e^{-R e(a)(t-s+r(s))} d s \leq c_{1} r(t)
$$

for some positive constant $c_{1}$. Therefore, (1) satisfies (H). By Theorem 1, we prove this corollary by taking

$$
\begin{aligned}
b(t) & =\lambda(t) \int_{t-r(t)}^{t} \lambda(s) e^{-\int_{s-r(s)}^{t} \lambda(\xi) d \xi} d s \\
& =a^{2} \int_{t-r(t)}^{t} e^{-a(t-s+r(s))} d s \\
& =a^{2} r(t)-a^{3} \int_{t-r(t)}^{t} r(\tau) d \tau-I_{1}(t)
\end{aligned}
$$

where

$$
I_{1}(t)=a^{2} \int_{t-r(t)}^{t}\left[e^{-a(t-s+r(s))}-1-r(s)\right] d s
$$

Since $r$ is bounded,

$$
\begin{aligned}
\left|I_{1}(t)\right| & \leq|a|^{2} \int_{t-r(t)}^{t}\left(\left(e^{\operatorname{Re}(a)(s-t)}-1\right) e^{-\operatorname{Re}(a) r(s)}+\left[e^{-\operatorname{Re}(a) r(s)}-1-r(s)\right]\right) d s \\
& \leq c_{1} \int_{t-r(t)}^{t}(t-s) d s+c_{3} \int_{t-r(t)}^{t} r(s)^{2} d s \\
& \leq c_{2} \frac{r(t)^{2}}{2}+c_{3} \int_{t-r(t)}^{t} r(s)^{2} d s
\end{aligned}
$$

for some positive constants $c_{2}$ and $c_{3}$. Since $r \in L^{p}$ with $1 \leq p \leq 2$ and $r$ is bounded, we have that $r \in L^{2}$. By the last inequality, $I_{1} \in L^{1}$ which completes the present proof.

Next, we obtain a version of Theorem 1 using weaker hypotheses.
Corollary 2 Suppose that $r$ is bounded and belongs to $L^{p}$ with $1 \leq p \leq 2$, and that $\int_{t-r(t)}^{t} r \in L^{1}$. Then the solutions of (1) satisfy (2). Conversely, given $\xi \in \mathbb{C}$ there is a solution $x(t)=x_{\xi}(t)$ of (1), defined for $t \geq 3 R$ and satisfying (2) with $c=\xi$.

The study of the $L^{p}$ perturbations has been exhaustively studied; see for example by Haddock and Sacker [8]. In the next corollary we give an extension of their conjecture for $2 \leq p \leq 4$.

Corollary 3 Suppose that in (4), $\lambda \in L^{p}$ with $1 \leq p \leq 4$ and $r>0$. Then, given a solution $x$ of equation (3), there exists $c \in \mathbb{C}$ such that

$$
\begin{equation*}
x(t)=\exp \left(\int_{3 R}^{t}\left[\lambda(\tau)-\lambda(\tau) \int_{\tau-r}^{\tau} \lambda(s) e^{-\int_{s-r}^{\tau} \lambda(\xi) d \xi} d s\right] d \tau\right)(c+o(1) \mid b i g), \tag{23}
\end{equation*}
$$

as $t \rightarrow+\infty$. Conversely, given $c \in \mathbb{C}$ there is a solution $x$ of (4) such that (23) is satisfied.

Corollary 4 Suppose that $\lambda$ and $r$ satisfy ( $H$ ) with $p=1$. Then for every solution $x$ of (3) there exists $c \in \mathbb{C}$ such that

$$
\begin{equation*}
x(t)=\exp \left(\int_{3 R}^{t} \lambda(s) d s\right)(c+o(1)) \tag{24}
\end{equation*}
$$

as $t \rightarrow+\infty$. Conversely, given $c \in \mathbb{C}$ there exists a solution $x$ of (3) such that satisfies (24).

Example 4. Consider the equation

$$
\begin{equation*}
x^{\prime}(t)=\frac{t}{t^{2}-1} x\left(t-\frac{1}{t}\right), \quad t \geq 2 . \tag{25}
\end{equation*}
$$

Then (25) satisfies (H) with $p=1$. We observe that one of the solutions of (25) is $x(t)=t$. By Corollary 1, all the solutions $x$ of (25) have the asymptotic formula

$$
x(t)=t(c+o(1))
$$

as $t \rightarrow+\infty$, where $c \in \mathbb{R}$, i.e, all the solutions of (25) are like $x(t)=t$.
Example 5. Consider the equation

$$
\begin{equation*}
x^{\prime}(t)=t^{\alpha} x\left(t-t^{-(2 \alpha+1)}\right), \quad t \geq 2, \alpha>1 \tag{26}
\end{equation*}
$$

By Corollary 4, all the solutions $x$ of (26) have the asymptotic formula

$$
x(t)=e^{t^{\alpha} /(\alpha+1)}(c+o(1))
$$

as $t \rightarrow+\infty$, where $c \in \mathbb{C}$.
Corollary 5 Suppose that in (3), $\lambda(t) \geq 0$ is a not decreasing function and $\lambda(t)^{2} r(t) \in L^{p}$ with $1 \leq p \leq 2$. Then for each solution $x$ of (3) there exists $c \in \mathbb{C}$ such that

$$
\begin{equation*}
x(t)=\exp \left(\int_{3 R}^{t}\left[\lambda(\tau)-\lambda(\tau) \int_{\tau-r(\tau)}^{\tau} \lambda(s) e^{-\int_{s-r(s)}^{\tau} \lambda(\xi) d \xi} d s\right] d \tau\right)(c+o(1)) \tag{27}
\end{equation*}
$$

as $t \rightarrow+\infty$. Conversely, for each $c \in \mathbb{C}$ there exists a solution $x$ of (3) such that (27) is satisfied.

Example 6. Consider the equation

$$
\begin{equation*}
x^{\prime}(t)=e^{t} x\left(t-\frac{1}{t e^{2 t}}\right), \quad t \geq 1 \tag{28}
\end{equation*}
$$

By Corollary 5, all of the solutions $x$ of this equation have the asymptotic formula

$$
x(t)=\exp \left(\exp \left(t-e^{t-e^{t}}\right) \int_{t-\frac{1}{t e^{2 t}}}^{t} \exp \left(s+e^{s-\frac{1}{s e^{2 s}}}\right) d s\right)(c+o(1))
$$

where $c \in \mathbb{R}$ as $t \rightarrow+\infty$.

## References

[1] O. Arino and I. Györi, Asymptotic integration of delay differential system, J. Math. Anal. Appl. 138 (1989), 311-327.
[2] S. Castillo and M. Pinto, Levinson theorem for functional differentional systems, Nonlinear Analysis T.M.A. 47/6 (2001), 3963-3975.
[3] K. Cooke, Functional differential equations close to differential equations, Bull. Amer. Math. Soc. 72 (1966), 285-288.
[4] J. Diblík, Asymptotic representation of solutions of the equation $y^{\prime}(t)=$ $\beta(t)[y(t)-y(t-\tau(t))]$, J. Math. Anal. Appl. 217 (1998), 200-215.
[5] R. Driver, "Ordinary and Delay Differential Equations", Springer-Verlag, New York, 1977.
[6] M.Eastham, "The Asymptotic Solution of Linear Differential Systems: Aplications of the Levinson Theorem", Clarendon Press, Oxford 1989.
[7] J. Gallardo and M. Pinto, Asymptotic integration of nonautonomous delay differential systems, J. Math. Anal. Appl. 199 (1996), 654-675.
[8] J.Haddock, Sacker, Stability and asymptotic integration for certain linear systems of functional differential equations, J. Math. Anal. Appl. 76 (1980), 328-338.
[9] J. Hale and S.V. Lunel, "Introduction to Functional Differential Equations," Springer-Verlag, New York, 1993.
[10] M. Pinto, Asymptotic integration of the functional differential equation $y^{\prime}(t)=a(t) y(t-r(t, y))$, J. Math. Anal. Appl. 175 (1993), 46-52.
[11] M. Pinto, Asymptotic solutions for second order delay differential equations. Nonlinear Anal. T.M.A., Vol. 28, $N^{o} 10$ (1997), 1729-1740.
[12] M. Pituk, Asymptotic behavior of solutions of a differential equation with asymptotically constant delay, in "Proceedings of Second World Congress on Nonlinear Analysts", Athens, Greece, 1996. Submitted.
[13] T. Yoneyama, The $3 / 2$ stability theorem for one dimensional delay differential equations with unbounded delay, J. Math. Anal. Appl. 165 (1992), 133-143.

Samuel Castillo
Departamento de Matemática, Facultad de Ciencias Universidad del Bío-Bío, Casilla 5-C, Concepción, Chile
e-mail: scastill@ubiobio.cl
Manuel Pinto
Departamento de Matemática, Facultad de Ciencias
Universidad de Chile, Casilla 653, Santiago, Chile
e-mail: pintoj@abello.dic.uchile.cl


[^0]:    * Mathematics Subject Classifications: 34K25, 34K20.

    Key words: Delay differential equations, variable delay, integro-differential equation, asymptotic formula.
    © 2001 Southwest Texas State University.
    Submitted January 11, 2001. Published July 27, 2001.
    Research supported by grant 8990013 from Fondecyt

